Center #1 — Multiply. Write the answer in simplest form.
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4. Johnny gets 1 %of a candy bar. He gives you %of that. How much of a candy bar do

you get?

Center #2 — Divide. Write the answer in simplest form.
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4. You have a total of 8% pounds of ground beef to make tacos for a party. Each taco

needs —é— pounds of beef. How many tacos can you make?

Center #3
ik 3 x'5/4 2 426 X 53 3 0225+ 008



Center #4 — Add or subtract.

1. 3.78 + 8.94 2 19.89 + 4.372
3 7.638 —2.365 4. 14.21 -4.103
Center #5

You want to get some bags of chips from a store that sells 3 for $4.35. Peter wants to
get bags of chips from another store that sells 5 for $7.41. Which one is the better deal?

Center #6
A store sells rice for $1.08 per pound. You buy 4.3 pounds of rice. If you give the cashier
$10.00, how much change will you get back?



Center #1 — Multlply Write the answer in simplest form.
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4. Johnny gets 1 %of a candy bar. He gives you —3— of that. How much of a candy bar do

you get? %_ OP
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Center #2 — Divide. Write the answer in simplest form.
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4. You have a total of 8—?— pounds of ground beef to make tacos for a party. Each taco
needs ) pounds of beef. How many tacos can you make?
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Center #4 — Add or subtract.

1. 378+894 2. 1989+4372
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Center #5

You want to get some bags of chips from a store that sells 3 for $4.35. Peter wants to
get bags of chips from another store that sells 5 for $7.41. Which one is the better deal?

2 bogs S bogs
51 .US gadn A >&\ S aae b
2, ;.as 5)’7 ¢ |
~\\'3Z 7)1 2, bags G *4.3<
g //Z{—){"““ \s o bfer de
— 4o
eapse P
Center#6

A store sells rice for $1.08 per pound. You buy 4.3 pounds of rice. If you give the cashier
$10.00, how much change will you get back?




